
LINE CROSSARM-~ 
REF. DWG. S01-01-02-13 

CROSSARM BRACE TO CROSSARM 
CONNECTION M16 x 180 BOLT: 
2 x LARGE FLAT WASHERS, 
SPRING WASHER AND NUTS 0 

0 
<..O 

--~ 2 x CROSSARM BRACE 
50x5 DURAGAL CF 
REF. DWG. S01-01-04-38 

_______ RISER 125x125x6 
SHS TUBELlNE 
2110LONG 
REF. SOl-01-02-16 

TOP OF POLE 

22kV VERTICAL LINE---------­
POST INSULATOR 
ITEM NUMBER 8375 
REFER DRG S01-01-03-07 

CROSSARM TO RISER CONNECTION-----~~~~ 
M24 GALVAN[SED THREADED ROD 
400 LONG, 2 x LARGE FLAT WASHERS, 
SPRING WASHERS AND NUTS 

CROSSARM BRACE TO RISER CONNECTION------'---­
M24 x 180 BOLT: 2 x LARGE FLAT WASHERS, 
SPRING WASHER AND NUTS 

120 x 120 x 6 THICK 
RISER CAP 

EXISTING WELDED LV CROSSARM g I 
I 

('J 

0 
0 
<..O 

2 SUPERSEDED TO S01-02-01-47 
1 TITLEBLOCK & DRAWING NUMBER FORMATTED 

EXISTING BUTT WELDS 
TO BE GROUND LEVEL 
WITH POLE SURFACE 

RISER TO WELDED POLE CONNECTIONS-----=-----< 
M24 GALVANISED THREADED ROD 500 LONG, 
2 x LARGE FLAT WASHERS, SPRING WASHERS 
AND NUTS 

THIS ARRANGEMENT TO BE USED ONLY FOR 
"An TOP IN LINE CONSTRUCTION WITH A 
DEVIATION OF 5°. 
ALL OTHER ARRANGEMENTS REQUIRE THE 
POLE TO BE REPLACED. 

__ 1 

\ 
I 
1 NOTE 2. 

i/ 

26mm DIAMETER HOLES THROUGH WELDED POLE 
TO BE DRILLED WITH MAGNET[C DRILL. 

NOTES: 
1. FOR AERIAL RISER DRILLING SCHEDULE REFER 

TO DRAWING No. S01-01-02-16. 
2. REFER DRG. S01-01-01-21 FOR TYPICAL BOLTED 

ARRANGEMENTS FOR CONNECTING TO PRE BOLTED 
POLES. 

3. THIS ARRANGEMENT TO BE USED ONLY FOR 
llAll TYPE IN LINE CONSTRUCTION WITH A 
MAX. DEVIATION OF 5°. 
ALL OTHER ARRANGEMENTS REQUIRE THE POLE 
TO BE REPLACED. 

END ELEVATION/ SECTION 

DES M. BOCK POWER STANDARD DRAWING 
ORN A. SCHMID 

fJ. 
PowerWater 

CKO J. GOLDSMITH LINE - RISER (MAX. 5° DEVIATION) 
APPO M. BOCK BOLTED CROSSARM ATTACHMENT TO WELDED 

A,N, FEB'22 A,N, B, v. SCALE POLES 
K, T. DEC' 18 C,C, C,C, 1 : 20 

0 ISSUED FOR CONSTRUCTION 

NO 

A.s. DEc'o2 J.G. M.B. No RT HERN TERR IT o R v .,_1_s_su_E_o_o_cT_'_o2_--1 A3 DRAW I NG ~ 
DESCRIPTION ORN DATE CKD APPD ALL DIM. IN nm NUMBER S01-01-02-18 ~ 

________ _._ ____________ AM_E_N_DM_E_N_Ts ____________ ...... ___________ ~~o_A~-T~IN~G~s_u~NO~~~o~r~o~•·~s-~,1~00;;..._~c-•o~PA~oo~u~cr_-....;.;oo~N~o-r_•~~~No~w•~Nu~•~u~v_.....i.:;;:A~ 

https://www.powerwater.com.au/standard-drawings/S01-01-02-13
https://www.powerwater.com.au/standard-drawings/S01-01-04-38
https://www.powerwater.com.au/standard-drawings/S01-01-03-07
https://www.powerwater.com.au/standard-drawings/S01-02-01-47
https://www.powerwater.com.au/standard-drawings/S01-01-02-16
https://www.powerwater.com.au/standard-drawings/S01-01-02-18
https://www.powerwater.com.au

